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READING COMPREHENSION
Task 1. In each of the following paragraphs, there is one sentence which must be omitted because it destroys paragraph unity in one way or another. So for questions 1-5 mark the sentence which must be omitted to make the paragraph unified and coherent.

1
A. Growing numbers of critics are demanding that research in nuclear power come to a halt.

B. The critics maintain that nuclear power plants have not developed sufficient safeguards against mechanical failures.


C. Those opposed to continued research insist that the Nuclear Regulatory Commission (NRC), which was formed to supervise research in nuclear power, is actually biased in favour of the production of nuclear power.


D. NRC safety requirements are quite stringent.


E. Those opposed to the use of nuclear power maintain that research will cost billions.

2
A. English is now almost an international language.


B. It is spoken by pilots and airport control operators on all the airways of the world.


C. However, it takes years to master this international language.


D. More than 70 per cent of the world’s mail is written in English, and in international business English is used more than any other language.


E. Moreover, all the major international conferences are conducted in English.

3
A.  Substances that exist in one state of matter will under certain conditions change into another state.


B.  Substances are found in three states.


C. Thus, ice can be melted and water can be frozen.


D. Dry ice changes to a gas when it is heated.


E. Rubbing alcohol and nail polish also change to a gas and evaporate from open bottles.

4
A. For most people, the distinction between vegetables and fruits is fairly clear.


B. Scientists, however, have varied opinions in this regard.


C. For example, horticulturists categorize a watermelon as a vegetable despite its general acceptance as a fruit.


D. These differences stem from the ways fruits and vegetables are classified.


E. Botanists identify a tomato as a fruit even though it is commonly used as a vegetable.

5
A. Plant breeders’ main aims are the same throughout the world.


B. Apart from evolving varieties with higher yield potentials, the usual main objectives are greater cultural reliability, greater resistance to diseases and pests, adaptation to the special requirements of different types of cultural practices, and improvement of quality, both nutritional and industrial. 


C. Most of the scientific methods developed are equally applicable everywhere. 


D. In fact, plant breeding work is already in progress in most developing countries, and has been begun in some instances by local workers on their own initiative, or with the assistance of international bodies such as FAO.


E. The destruction of tropical forests should be stopped; otherwise many species of plants will be lost forever.

Task 2. For questions 6-10 choose the alternative which most logically completes the given sentence.

6 Jake’s parents had promised to buy him a camera if his grades were good. Yet, ________ .

A his grades were good, so they bought him a new camera.

B his grades were good. Consequently, they are going to buy him a new camera.

C his grades were not good. Consequently, they are not going to buy him a new camera.

D his grades were poor. He is confident that they are still going to buy him a new camera.

7 While conceding the importance of freedom of speech, _______________ .

A freedom of expression is crucial.

B thus, many people attach great importance to it.

C I believe it must be exercised with sensitivity and responsibility.

D I think it is the essence of democracy.

8 Despite the shortage of steel, _________________ .

A a sharp fall has been observed in industrial output.

B no increase can be made in industrial output without adequate supplies of steel.

C industry has been adversely affected.

D industrial output has increased by 5 per cent.

9 The student failed to get any of the jobs that he wanted. There were several reasons for his lack of success. First, he had little experience in the type of work which he wanted to do. ___________ .

A Also, he was able to give some evidence of an ability to learn quickly.

B Moreover, his qualifications were satisfactory. 

C In addition, he lacked the necessary training.

D Besides, his university grades were all excellent.

10 For anthropologists, culture refers to the various aspects of life, that is ______________ .

A it refers to the quality we acquire by attending a sufficient number of plays and reading several books.

B every society has its own culture, no matter how simple.

C it includes the behaviour, beliefs and attitudes of a society or population.

D we share our customary behaviour and attitude with other people in the society.
Task 3. Questions 11-20 relate to the following passage. Read it and choose the alternative to answer each question in the best way.

  It is indisputable that in order to fulfill its many functions, water should be clean and biologically valuable. The costs connected with the provision of biologically valuable water for food production with the maintenance of sufficiently clean water, therefore, are primarily production costs. Purely “environmental” costs seem to be in this respect only costs connected with the safeguarding of cultural, recreational and sports functions which water courses and reservoirs fulfill both in nature and in human settlements.

  The pollution problems of the atmosphere resemble those of the water only partly. So far, the supply of air has not been deficient as was the case with water, and the dimensions of the air-shed are so vast that a number of people still hold the opinion that air need not be economized. However, scientific forecasts have shown that the time may be already approaching when clear and biologically valuable air will become problem number one.

  Air being ubiquitous, people are particularly sensitive about any reduction in the quality of the atmosphere, the increased contents of dust and gaseous exhalations, and about the presence of odors. The demand for purity of atmosphere, therefore, comes much more from the population itself than from the specific sectors of the national economy affected by a polluted or even biologically aggressive atmosphere.

  The households’ share in atmospheric pollution is far bigger than that of industry which complicates the economic problems of atmospheric purity. Some countries have already collected positive experience with the reconstruction of whole urban sectors on the basis of new heating appliances based on solid fuels; estimates of the economic consequences of such measures have also been put forward.

   In contrast to water, where the maintenance of purity would seem primarily to be related to the costs of production and transport, a far higher proportion of the costs of maintaining the purity of the atmosphere derives from environmental considerations. Industrial sources of gaseous and dust emissions are well known and classified: their location can be accurately indentified, which makes them controllable. With the exception, perhaps, of the elimination of sulphur dioxide, technical means and technological processes exist which can be used for the elimination of all excessive impurities of the air from the various emissions.

   Atmospheric pollution caused by the private property of individuals (their dwellings, automobiles, etc.) is difficult to control. Some sources such as motor vehicles are very mobile, the cost of anti-pollution measures will have to be borne, to a considerable extent, by individuals; whether in the form of direct costs or indirectly in the form of taxes, dues, surcharges, etc.

   The problem of noise is a typical example of an environmental problem which cannot be solves only passively, i.e. merely by protective measures, but will require the adoption of active measures, i.e. direct interventions at the source. The costs of a complete protection against noise are so prohibitive as to make it unthinkable even in the economically most developed countries. At the same time it would not seem feasible, either economically or politically, to force the population to carry the costs of individual protection against noise, for example, by reinforcing the sound insulation of their homes. A solution of this problem probably cannot be found in the near future.

11 According to the passage, the population at large ___________ .

a) is unconcerned about air pollution controls.

b) is especially aware of problems concerning air quality and purity.

c) regards water pollution as more serious than air pollution.

d) is unwilling to make the sacrifices needed to ensure clean air.

12 Scientific forecasts have shown that clear and biologically valuable air _________ .

a) is likely to remain abundant for some time.

b) creates fewer economic difficulties that does water pollution.

c) may soon be dangerously lacking.

d) has already become difficult to obtain.

13 According to the passage, which of the following contributes most to atmospheric pollution?

a) households

b) waste disposal

c) industry

d) mining

14 The costs involved in the maintenance of pure water are determined primarily by _________ .

a) production and transport costs only

b) transport costs only

c) production costs only

d) research costs only

15 According to the passage, atmospheric pollution caused by private property is __________ .

a) easy to control

b) impossible to control

c) decreasing

d) difficult to control

16 According to the passage, the problem of noise can be solved through ___________ .

a) active measures only

b) passive measures only 

c) active and passive measures only

d) additional taxes only

17 According to the passage, the costs of some anti-pollution measures will have to be borne by individuals because _________ .

a) governments do not have adequate resources.

b) individuals contribute to the creation of pollution.

c) industry is not willing to bear its share.

d) individuals are more easily taxed than producers.

18 Complete protection against noise ___________ .

a) has been achieved in some countries.

b) is impossible to achieve.

c) is possible only in developed countries.

d) may gave prohibitive costs.

19 The word that  in the first sentence of paragraph 4 refers to __________ .

a) the households’ share

b) atmospheric pollution

c) the share

d) households

20 The word merely in the last paragraph can best be replaced by which of the following?

a) only

b) mostly

c) especially

d) probably
Task 4. You are going to read an extract from a book about changing conditions in Antarctica. Answer the questions 21-35 by choosing from the Sections A-G. The sections may be chosen more than once. 
A The Antarctic is a landmass the size of Europe and the USA put together that surrounds the South Pole. Over 99 % of the Antarctic is covered in a thick ice cap, in some places as thick as 4,700 m. 40 % of the present ice cap covers water. In addition, the continent doubles in size each winter when the surrounding seawater freezes. If we took the ice cap away, the eastern side of Antarctica would form one solid mass of mountainous land, whilst the western side would be a group of islands.

B  The Antarctic has always been good for doing scientific experiments because it is one of the few places in the world which still has a relatively unpolluted environment. Scientists can study the history of the Earth, its seas and the atmosphere. By looking at layers of ice, it’s possible, through levels of lead pollution, the spread of the motor car. But recent changes in the Antarctic ice cap are of even greater interest to scientists.
C In February 1997, the ship Arctic Sunrise, which belongs to Greenpeace, became the first to sail around James Ross Island in the eastern Antarctic. For thousands of years, it’s been impossible to do this because the island was connected to the mainland by a 200-meter thick ice shelf. But in 1995 the ice shelf called Larsen A disintegrated and an iceberg measuring 78km by 37km broke away. Before Larsen A collapsed, it became criss-crossed with deep cracks. Greenpeace observers have noted similar cracking in other areas of ice in the same area, which would seem to indicate that the process is continuing.

D During the past 70 years of global warming, the Antarctic Peninsula has warmed by 2.5°C – faster than anywhere else in the world. Some scientists think this rise is due to the greenhouse effect. That is, too much carbon dioxide gas in the atmosphere has the effect of making the whole world too hot.  Others say the warming may be localized, which means it is only happening in the Antarctic Peninsula.
E Few land species of wildlife live in Antarctica. Those which do survive there have adapted to very cold conditions. They are most at risk from the changes that is a warmer Antarctic is bringing.  The worry now is that the effects could be more widespread. They could cause a worldwide catastrophe. If the Antarctic ice cap melted completely, it would raise the sea level by more than 70 meters. Many areas of land would be flooded, including southern Britain.  
F But the news is not all bad. Rising temperatures are beneficial to plants because as ice melts it exposes soil where they can live. Some plant species are now on the increase – their numbers have grown by 25 % in some areas.

G However, warmer temperatures can be unwelcome for the penguins. The warmer weather has made it more difficult for them to bring up young as they nest in high rocks that do not trap snow or water during the yearly ice meltdown. Because of higher temperatures there is heavier snowfall which covers nesting sites longer in the breeding period. Also, as the ice melts, there is less food for the penguins, and this has resulted in a 40 % decline in their number.

	Question number
	Which section mentions
	Your answers

	21
	something that has never been done  before? 
	

	22
	evidence of further developments?
	

	23
	a disagreement amongst experts? 
	

	24
	possible negative long-term consequences of change? 
	

	25
	a living thing that was more plentiful previously?
	

	26
	a chance to find out about the very distant past?
	

	27
	the speed with which change is happening? 
	

	28
	how parts of Antarctica are different from each other?
	

	29
	Antarctica is cleaner than other places?
	

	30
	some possible explanations for what is happening?
	

	31
	some positive results of the changes?
	

	32
	something whish lasts longer as a result of the changes?
	

	33
	what can be learnt about the world by studying Antarctica?
	

	34
	seasonal variations that affect Antarctica?
	

	35
	wildlife that benefits from colder conditions?
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